Chapter 6: Ro
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Ro can also be computed from Jacobian

SIR model:
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Ro is not equal to the growth/expansion rate of the epidemic

SIR model:
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Initial expansion rate (ro > 0):




Ro is not equal to the growth/expansion rate of the epidemic
Initial expansion rate (py > 0): Ro—=p§ + %P
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Define length of the infectious period, L = to see that
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Frequency dependent infections

SIR model:
%zs—dS—ﬁS], %:651—(5 r)l , and C;é{:rl—dR,
fo = 25 i r
Frequency dependent infection in SIR model: N=S§S+ [+ R
%:s—ds 6;\6;] , i—i: 6}31 (6+r)l, and (il—f:rf—dR,
p

Re —
| 0+ r



SEIR model
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SEIR model Ro=- & !
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FIitness In consumer-resource models
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